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TIESOF EXPECTATION
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Proof:X=a
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Roof for discrete r.v's.

If X takesvalues 2with prob. Pi

and Itakesvalcss y;
withprob. 9;

then ax+6Y takesvalues axstby,with prof. Pij=P(X=x,,Y=yi3
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possibly repeated (op in thedef.)
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Iheads in flip 1 = 40,13

*X= I heads in 3 coin flips =X,+ X2+ X3
E(X) =E(X,) + E(X2) +E(X,]. 1(Xi) =0.1 +1.t=
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The initialstake (money in the Rot) is $2. u

The player tosses
a fair coin.

If T =>gome end,
theplayer wine whatever isin

the pot.18
If u =stake doubles, game

continues.

I What would be a fair price topay the casing

for entering this game?

X =player's winnings. Tosses Winnings I

↑(2) =Y, p(4) =xy, - -
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I 4 I 1/8 I YEx)=2 -2 +4 - 5 +8.8+...
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Ans: A price.
- -

-

Remarks. Volatility, financial bubbles.
-

· Median is more stable. Med(X) =Mif

P(X=M42s P(X-M3E.

·In the St.Peters paradox, Med(X) -> (2,4)
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